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2 |EQ&Wm| M H 7—2—74%| K & N K & 49.0 m2 62.0 m2
3 (FEBEW| /A H 7—2—14%| K & N K & 180.0 m2 60.0 m2
4 |EB#H| N T B | F & )1 | KB RNKE 619.0 m2 177.0 m2
5 |&ZB#®m| N T B |[7-1-2|KBKHNKE 45.0 m2
6 |HRA%HMMH| /N T B |[7-5-34| K B AN KE 777.5 m2
7 |FAEWME|NT B |1T—-4—1|KEBRANRKRHE 40.0 m2
8 |EEEH|(MBEATEH|2—6—104 | K B KN K E 507.0 m2
9 |ZEEMT|(HMBEEETE|2 -6 —9| K B KN K E 80.3 m2
10 |HERMM|(HMERATE|2 -8 —6| K B RN K &E 24.0 m2
N | ERMMMERETE|H A KK | KB R KRE 330.0 m2
12 |ZEHH|(HERETH|2—6—354| K B A K & 50.0 m2
13 |[HB&m| & H 7—1—8| KEHNKE 20.0 m2 70.0 m2
14 |ZEMH|/EO=TE|2—-8—12| K B N K & 85.0 m2
15 |[EBMH|HKE—TH|2—8—14| K B RN K &E 368.0 m2 232.0 m2
16 |ZEHH|KRE—TE|2—11—124| K B A K & 186.0 m2
17 |ZB8H|KRET=TE|2—-8—29| kK B A K & 136.0 m2
18 |&B&M| B & |6—1—24| K B W B E | 1,930.0 m2 168.6 m2
19 |Z8&HH| % B |6—1—24| KK AN KB =E 51.9 m2
20 (EA%MH| % F O [6—0—0| K BERANKRE 337.5 m2 37.5 m2
21 |&EBA#MH| F B [2—-15—1| KBERAKRE 68.0 m2
22 |EAEMH|JKE-_TH|2 -8 —9| K B MW B E | 1,1040 m2 15.0 m2
23 |&EBA#H| & & 4 [5—3— 1| K BN KE]| 1,1550m2 330.0 m2
24 |EBEH|MMERATE|2—8—2044| K B A B & 129.0 m2
25 |EREM| B R ([BREFHMAKE K B A RKRE 68.0 m2
26 |ERAMH| A HEH|(7—-3—14| K B A K E 75.0 m2 75.0 m2
27 |ZEEHWM|KEETE | A K| KB A KR E 72.0 m2
28 |EAEMH|KE T TE|2—11—-18| K B A K & 31.5 m2 31.5 m2
29 |EAMH|KEAETHE|2—8—84 | K B A K & 513.0 m2
30 |HEAEMH|MERETE|2—8—11| K B A K & 52.8 m2
31 |&BHH| N H ([2—4—4| KB AKE 75.0 m2
2 |HZEHH|E—TEN1-2-54| K B A Bk & 135.0 m3
33 |HEAMH|—/EmETE|1—6—1| K BERAKRE 112.0 m2
M |BEEBH| M —TE|1—2—9| K ¥ AKE 30.0 m2
3% |BEEHH|KEATE|2—11—1| K B A K &E 38.0 m2
36 |ZAMHm| M =-TBE|[1—4—64| K BERNKRE 156.0 m2
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A= 2200 X 18 = 396.0 m2
C= 400 X 110 = 4400 m2
D= 900 X 03 = 270 m2
A&t 863.0 m2
AHB L W(H)
B= 800 X 04 = 320 m2
R L W
B= 700 X 1.0 =( 70.0 m?2)
70% = 490 m2
AN L W
A= 1100 X 04 = 440 m2
C= 400 X 045 = 180 m2
= 62.0 m2
R L W
B= 1000 Xx 12 = 1200 m2
D= 600 X 10 = 60.0 m2
A&t 180.0 m2
AN L W
A= 1500 X 03 = 450 m2
C= 500 X 03 = 150 m2
&&t 60.0 m2
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B= 2500 X 20 = 5000 m2
D= 330 Xx 10 = 330 m2
= 70 X 05 = 35 m2
F= 150 X 55 = 825 m?2
&% 619.0 m2

L W
A= 2700 X 05 = 1350 m2
C= 700 X 06 = 420 m?2
&% 177.0 m2

AH L w
A= 1000 X 09 =( 900 m2)
50% = 450 m?2

AH L w
= 850 X 15 = 12715 m2
= 500 Xx 18 = 90.0 m2
= 400 x 60 = 2400 m2
= 800 X 40 = 3200 m?
A&t 7775 m2
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= 500 X 45 = 2250 m2
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= 500 X 18 = 90.0 m2
A&t 507.0 m2
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A= 200 X 20 = 400 m2
31.0 X 13 = 40.3 m?2
&t 80.3 m2
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gl B= 800 X 04 = 320 m2
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B= 500 X 05 = 250 m2
C= 900 X 05 = 450 m?2
= 700 m2
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A= 700 X 07 = 490 m2
B= 200 X 18 = 36.0 m2
&&t 85.0 m2
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= 1500 X 08 = 1200 m2
= 1000 Xx 20 = 2000 m2
= 600 X 08 = 480 m?2
=1 368.0 m2

L w
= 1500 X 04 = 60.0 m2
= 600 X 08 = 480 m2
= 1000 Xx 05 = 500 m2
= 1100 X 04 = 440 m2
E= 600 X 05 = 30.0 m2
&&t 2320 m2




2—11—1241KE

30.0 m2
136.0 m2

2
8
2
2

0
0
0

1

1500 X

1700 X

80 m2

120 m2
186.0 m2

400 X

C
D

10.0 X

IT

136.0 m2

6

850 X 1

A

360.0 m2
1170.0 m2

400.0 m2
1930.0 m2

.l.

PN
A

60.0 m2

48.0 m2

0.3

160.0 X

33.0 m2
27.6 m2

0.3
0.3

920 X

=L:c]l

1100 X

D=
E=

i
th i

th

7
7

RE

168.6 m2

.l.

AN
[
DUVTHE

FERIZ

i

~

B
Mz

XBR
I

122&,

40.0

90.0

08

400.0

A=

0¢l

09

1170.0

A=

00¢



6—1—245 K&
} Emr"z' BT N AR L w
e LIV G A= 470 X 03 = 141 m2
B= 1800 x 03 =( 540 m2)
70% = 37.8 m2
&t 51.9 m2
B L W
A= 750 X 45 = 3375 m2
AH L w
A= 750 X 05 = 375 m2
@) 2—15—1XKK
L Y M L W
= 80 x 90 = 72.0
R 20 X 20 = 4.0

&&t 68.0 m2
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[kl A= 3000 X 35 = 10500 m2
B= 150 X 36 = 540 m2
&&t 11040 m2
AR
THBA B= 15.0 m2
B L W
gl A= 11000 X 15 =( 1650.0 m2)
70% = 11550 m2
AR L w
A= 11000 X 03 = 3300 m2
23 2—8—204 ki
- s AR L W
PP AN N :
NGO A= 550 x 18 = 990 m2
N e : Al B= 300 X 10 = 30.0 m2
A&t 129.0 m2




A= 400 X J o= 68.0 m2

L W

A= 1000 X 15 = 1500 m2
B 1500 X 50% = 75.0 m2
AR 150.0 X 50% = 750 m2
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. i B A= 180 X 40 = 720 m2
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50% =

w
1.4
1.8
2.0

63.0 m2

31.5 m2

31.5 m2

770 m2
216.0 m2
220.0 m2

880 X

i

0.6

513.0 m2

52.8 m2



A= 2500 X 03 = 750 m2
B L W
A= 450 X 05 = 225 m2
Kl=1=Z= B R
B= 1150 X 05 = 575 m2
Kl=1=Z= B R
C= 1100 Xx 05 = 55.0 m2
it = 135.0 m2
B L W

A= 1400 X 08 = 1120 m2




0 = 30.0 m2

39 2-11-17k &

B L st

oo ety WA A Y T NA P L w
AR YS %‘\ - SR ‘.-'?f 7 X A= 300 x 10 = 300 m2
B= 200 X 04 = 8.0 m2
Bt = 380 m2

L W

B 2600 X 06 = 1560 m2
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A 2400 x 05
Gl

L W
A 2400 x 0.6
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120.0 m2

1440 m?2



